Soustraction Avec Un Zéro (])

Calculez la différence.

700 200 900 600
-417 -71 -611 -85
700 400 400 700
- 668 - 318 -44 - 437
200 700 300 800
- 80 - 675 -101 -54
300 600 400 100
- 226 -579 - 313 -51
800 500 700 400
- 68 - 140 - 301 - 66
300 700 700 800
- 230 - 682 - 62 - 106
600 200 400 900
- 452 - 36 - 327 - 338
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Soustraction Avec Un Zéro (J) Réponses

Calculez la différence.

700 200 900 600
-417 -71 -611 -85
283 129 289 515
700 400 400 700
- 668 - 318 -44 - 437
32 82 356 263
200 700 300 800
- 80 - 675 -101 -54
120 25 199 746
300 600 400 100
- 226 -579 - 313 -51
74 21 87 49
800 500 700 400
- 68 - 140 - 301 - 66
732 360 399 334
300 700 700 800
- 230 - 682 - 62 - 106
70 18 638 694
600 200 400 900
- 452 - 36 - 327 - 338
148 164 73 562
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